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1. UBMmAS  (Bitk)
BB DN F T A 2018412 H 75201942 H T TOE S HEHEIC L £,

O LNGYY#ks = 64,090/t
@ L PGEHEH = 54,8301/t

2. JRURHEERIERHL (BLiA)

Kk G (H/m)
— % T AN TG R A 16.98
B AR R R A20. 37

(1) “FREEHmE (Biik)
D X 0.9576 + @ X 0.0466
= 64,090 X 0.9576 + 54,830 X 0.0466
= 63,927. 6621
— 63,930M (10 A D vid & MU FHA)
(2)  UBMfiks Z B (Bith)
SSMEEEUBHMES — SFERIUEHMlAS
= 83,350 — 63,930/
= 19,420
— 19,400M (100 AT Dtz 01 v #0)
(3)  JRUBHE AR BT - —f% T AN FEERG R (BlA)
—0.081 X JFEHMlFSZAERE ~ 100 X (1 + HEFE)
—0.081 X 19,400 =+ 100/ X (1 + 0.08)
—16.97112H
—  —16.98M  UNEURER 2 AR O ¥ &2 £ O/ S W IFIZET Y #5T0)
(4)  JRUBHE TR A« BfEORIERIER (BliA)
—0.081 X JFUBHMIFsZEEE — 100/ X 1.2 X (1 + WHERFR)
—0.081 X 19,400 =+ 100 X 1.2 X (1 -+ 0.08)
—20. 365344
—  —20.37TH  UNEURER 2 AR O ¥ 2 2D/ S W IFIZET D #5T0)

3. FEREBHEEUik KOG E I A
(1) EZHKEM - MNEFHOBZ S £/ (2HEE) 056 Bk

R FERRARHE | EERhE H
(H/H) (F4/nt)

A Om ~ 20m 669. 00 113. 30

B 21m ~ 200ni 1,647.00 64. 40

C 201mi ~ 3, 441. 00 55. 43

(2) FHEHE AR DOEA (BLiA)
(EREEARIE + (EEHEEMm XHEHE) X (1 + HEFER)
= 1,647.00/ + 64.40/m X 29m X (1 -+ 0.08)
= 3,795. 768
— 3,795 (1 MR D8ndl v #5C)



